

$x^2 + y^2 + z^2 = 1$ sphere in \mathbb{R}^3

$x^2 - y^2 = 1$

$1 \cdot x \cdot x + 1 \cdot y \cdot y + 1 \cdot z \cdot z - 1 = 0$

$a_{11}=1, a_{22}=1, a_{33}=1, a_{44}=-1$

12 10-16:05

$x^2 - 4xy - 5y^2 + 2x + 4y + 3 = 0$

12 10-16:15

$A = \begin{pmatrix} 1 & 2 \\ 2 & -5 \end{pmatrix}$

$\begin{vmatrix} 1-\lambda & 2 \\ 2 & -5-\lambda \end{vmatrix} = (1-\lambda)(-5-\lambda)$

$= \lambda^2 + 4\lambda - 9$

$\lambda_{1,2} = \frac{-4 \pm \sqrt{16+36}}{2}$

$= -2 \pm \sqrt{13}$

$\begin{pmatrix} 3-\sqrt{13} & 2 \\ 2 & -3-\sqrt{13} \end{pmatrix} \sim \begin{pmatrix} 3-\sqrt{13} & 2 \\ 0 & 4-(3-\sqrt{13})(-3-\sqrt{13}) \end{pmatrix}$

$\mu = \begin{pmatrix} 2 \\ \sqrt{13}-3 \end{pmatrix}$ $\nu = \begin{pmatrix} 3-\sqrt{13} \\ 2 \end{pmatrix}$ $13-9=4$

12 10-16:20

$x^2 + y^2 - 2x - 1 = 0$

$(x-1)^2 + y^2 - 2 = 0$

$y^2 - 2x - 2y = 0$

$(y-2)^2 - 2x - 4 = 0$

$(y-2)^2 - 2(x+2) = 0$

$y = x^2$

12 10-16:31

$x^2 + 2y + 2z = 0$

$\frac{1}{2}(x-x') = y'$

$\frac{1}{2}(y-z) = z'$

$x^2 + 2\sqrt{2}y' = 0$

$\mathbb{R}^3 !!$

12 10-16:57

$f(x_1, \dots, x_n) = \sum_{i,j} a_{ij} x_i x_j$

$= x^T \cdot A \cdot x$

$x = S \cdot x'$

$= (x')^T \cdot S^T \cdot A \cdot S \cdot x'$

$3x_1^2 - 3x_1x_2 = 0 \Rightarrow (x_1')^2 - (x_2')^2 = 0$

$2(x_1 - \frac{1}{2}x_2)^2 - \frac{3}{4}x_2^2 = 0$

$x_1' = \sqrt{3}(x_1 - \frac{1}{2}x_2)$ $x_2' = \frac{\sqrt{3}}{2}x_2$

12 10-17:09

$f(x_1, \dots, x_n) = \pm x_i^2 + h(x_1, \dots, x_n)$

$x_1 x_2 = (x_2')^2 - (x_1')^2$
 $x_1 = x_1' + x_2'$
 $x_2 = x_2' - x_1'$

12 10-17:18

$f(x, y, z) = 3x^2 + 2xy + y^2 + 4yz + 6z^2$
 $= 3\left(x + \frac{1}{3}y\right)^2 + \frac{2}{3}y^2 + 4yz + 6z^2$
 $= 3\left(x + \frac{1}{3}y\right)^2 + \frac{2}{3}(y + 3z)^2$
 $= (x')^2 + (y')^2 + 0(z')^2$

$x' = \sqrt{3}\left(x + \frac{1}{3}y\right)$
 $y' = \sqrt{\frac{2}{3}}(y + 3z)$
 $z' = z$

12 10-17:22

quadrat A \leftrightarrow quadrat normal
 $\langle \varphi(u), v \rangle = \langle u, \varphi(v) \rangle$
 $\langle \varphi(u), u \rangle = x^T \cdot A \cdot x = f(u)$
 $0 \leq \langle \varphi(u), u \rangle$ für ... positiv definit.

12 10-17:31

$x_1 x_2 + x_1 x_3 =$

$y_1 = x_2 - x_1$
 $y_2 = x_1$
 $y_3 = x_3$

$= y_1(y_2 + y_1) + y_1 y_3$
 $= y_1^2 + y_1 y_2 + y_1 y_3$
 $= \left(y_1 + \frac{1}{2}y_2 + \frac{1}{2}y_3\right)^2 - \frac{1}{4}y_2^2 - \frac{1}{2}y_2 y_3 - \frac{1}{4}y_3^2$
 $= z_1^2 - \frac{1}{4} \frac{(y_2 + y_3)^2}{z_2^2}$ ✓

$z_1 = y_1 + \frac{1}{2}y_2 + \frac{1}{2}y_3 = \frac{1}{2}x_2 + \frac{1}{2}x_1 + \frac{1}{2}x_3$
 $z_2 = \frac{1}{2}(y_2 + y_3) = \frac{1}{2}x_2 - \frac{1}{2}x_1 + \frac{1}{2}x_3$

12 10-17:35